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1. DEL 

Naloga Točke Rešitev Dodatna navodila 

1 1  C  
2 1  C  
3 1  A  
4 1  D  
5 1  C  
6 1  D  
7 1  B  
8 1  B  
9 1  D  

10 1  C  
11 1  A  
12 1  A  
13 1  B  
14 1  4, 3, 1, 2 Vsi pravilni odgovori ….. 1 točka. 
15 1  3, 4, 1, 2 Vsi pravilni odgovori ….. 1 točka. 
16 1  2, 4, 1, 3 Vsi pravilni odgovori ….. 1 točka. 
17 1 ena od: 

 druga dela 
 druga opravila 

 

18 1  RID  
19 1  kretnica  
20 1 ena od: 

 ladjarska pogodba 
 charter party 

 

 
 
Skupno število točk 1. dela: 20 
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